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QUESTION 1

When deploying a multi-machine blueprint that includes two web servers that should both service client requests, what
type of NSX for vSphere service is deployed? 

A. A NSX for vSphere Edge Services Gateway configured for static routing. 

B. A NSX for vSphere Edge Services Gateway configured for load balancing. 

C. A NSX for vSphere Edge Services Gateway configured for dynamic routing. 

D. A NSX for vSphere Edge Services Gateway configured for load sharing. 

Correct Answer: B 

 

QUESTION 2

Refer to the Exhibit. 

The vSphere administrator is configuring directory services for a host, as shown in the exhibit: 
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What should the vSphere administrator do to configure the host to use CAM services? 

A. Check the Use vSphere Authentication Proxy checkbox. 

B. Set Select Directory Service Type to "CAM services". 

C. Specify "CAM$" for the Domain. 

D. Set Trusted Domains to "cam\name.tld" where name.tld is the domain that the host is joining. 

Correct Answer: A 

 

QUESTION 3

Refer to the Exhibit. 
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An administrator finds a network problem. Virtual machines on the 10.10.10.0/24 network are unable to communicate on
the external network. 

What should the administrator do to resolve the problem? 

A. Change the Translated Port from 22 to any. 

B. Create a SNAT for the network 10.10.10.0/24 to pass traffic. 

C. Create a DNAT for the network 10.10.10.0/24 to pass traffic. 

D. Change the Protocol from TCP to any. 

Correct Answer: B 

 

QUESTION 4

An administrator needs to install vSphere Update Manager using an external SQL Server 2008 R2 database. 

The administrator has created the database successfully, but cannot establish connectivity when testing the DSN. 

Which configuration setting could be causing the issue? 

A. The database was configured to use Windows authentication. 
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B. The DSN was configured using a 32-bit ODBC connection. 

C. Update Manager does NOT support the use of a remote database. 

D. Port 9087 is being blocked by Windows Firewall on the Update Manager server. 

Correct Answer: A 

 

QUESTION 5

A vSphere administrator is attempting to migrate a virtual machine, but the progress bar for the migration 

remains at 10%. 

Which issue could be preventing the vMotion migration? 

A. A networking problem between the source and destination hosts exists at the physical layer. 

B. The virtual machine is not on shared storage visible to the source and destination hosts. 

C. The vMotion migration priority for this migration was set to High. 

D. The vMotion network is saturated. 

Correct Answer: A 
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